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<:for entity in [$client, $partner]:>

<:if len(entity.insurance_by_cover.filter(‘policy_status=Inforce’)):>

<:=entity.preferred_name:> insurance cover

	Underwriter
	Owner
	Cover Type
	Sum Insured
	Annual Premium


<:for item in entity.insurance_by_cover.filter(‘policy_status=Inforce’):>

	<:=item.coy:> <:=item.plan_name:>
	<:for owner in item.owner_list:>
<:if owner.first_name:>

<:=owner.first_name:> <:=owner.last_name:>

<:else:>
<:=owner.entity_name:>
<:end:>
<:end:>
	<:for item2 in item.covers(‘l’):>

Life
<:end:>
<:for item2 in item.covers(‘d’):>

TPD
<:end:>
<:for item2 in item.covers(‘t’):>
Trauma
<:end:>
<:for item2 in item.covers(‘i’):>
Income Protection
<:end:>
<:for item2 in item.covers(‘b’):>
Business expenses
<:end:>
	<:for item2 in item.covers(‘l’):>
$<:=item2.value:>

<:end:>

<:for item2 in item.covers(‘d’):>
$<:=item2.value:>
<:end:>
<:for item2 in item.covers(‘t’):>
$<:=item2.value:>
<:end:>
<:for item2 in item.covers(‘i’):>
$<:=currency(item2.benefit_amount.value*item2.benefit_frequency.value/12, 0):> pm
<:end:>

<:for item2 in item.covers(‘b’):>
$<:=currency(item2.benefit_amount.value*item2.benefit_frequency.value/12, 0):> pm
<:end:>
	$<:=currency(float(item.benefit_premium.value*item.frequency.value),2):>


<:end:>

<:end:>
<:end:>
